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Assessment Name : OPRB CBRE Warder- 22nd Dec 2022-SL-3(B)
# QUESTION
Subject: General English | Chapter: Set-7

QM@ They Indian food.
A. have been loving
) B. are loving
Options
JE: love
D. were loving
Q@ The lion in the Gir forest of Gujrat.
A. finds
) v B. is found
Options

C. has found

D. has been finding

Q@3 State the grammatically not acceptable sentence.

A. [ live in Sambalpur.
) B. His English is getting better all the time.
Options
JC. Look ! Two swans carry a tortoise.
D. [ usually go to school on foot.
Q4 She any new clothes for years.
VA has not bought
) B. not bought
Options _
Cs isn't have bought
D. will buy

Q(5) Paul said, "The man did not go earlier." (Change into Indirect Speech)

A. Paul said that the man had not gone before.
) v B. Paul said that the man had not gone earlier.
Options
C. Paul said that the man had to go before.
D. Paul said that the man has to go before.
Q (6) [ haven't got a ticket. If one, I could get in.
A. I would have
v B. I had
Options
C. [ have
D. ['ve got

Q) [ suggested a game to break for ice. The underlined phrase means

Options | 4 make people happy
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v B. overcome initial shyness
C. begin something new
D. separate into pieces.
Choose the correct antonym of
Q@®) :
wisdom :
JA. ignorance
) B. knowledge
Options
labour
D. apprehension

QO His illness has made him completely

A. unmobile
) v B. immobile
Options
inmobile
D. dismobile

Q (10) | A part of the building was ruined in the

A. explode
) v B. explosion
Options
exploding
D. explosive

Read the following passage carefully and answer the questions that follow

"Uncle" said Luke to the old Sean "You seem to be well fed, though know no one looks after
you. Nor have seen you leave your residence at any time. Tell me how you manage it ?"

"Because" Sean replied, have a good feed every night at Emperor's orchard After dark, go
there myself and pick out enough fruits to last a fortnight."

Luke proposed to accompany his uncle to the orchard. Though reluctant because of Luke's

Q1) | pabitof euphoric exhibition of extreme excitement. Sean agreed to take him along. At the
orchard while Sean hurriedly collected the fruits and left. LLuke on the other hand at the sight
of unlimited supply of fruits was excited and lifted his voice which brought Emperor's men
immediately to his side.They seized him and mistook him as the sole cause of damage to the
orchard Although Luke reiterated that he was a bird of passage. they pounded him mercilessly
before setting him free.

Why was Sean reluctant to take Luke along ?
A. Because he was a selfish man
JB. He feared that Luke's reaction may alert the Emperor's men
Options _
Because Luke could harm him
D. He wanted to bring fruits for Luke himself
QA2)  Read the JSollowing passage carefully and answer the questions that follow

"Uncle" said Luke to the old Sean "You seem to be well fed, though know no one looks after
you. Nor have seen you leave your residence at any time. Tell me how you manage it ?"
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"Because" Sean replied, have a good feed every night at Emperor's orchard After dark, go
there myself and pick out enough fruits to last a fortnight."

Luke proposed to accompany his uncle to the orchard. Though reluctant because of Luke's
habit of euphoric exhibition of extreme excitement. Sean agreed to take him along. At the
orchard while Sean hurriedly collected the fruits and left. Luke on the other hand at the sight
of unlimited supply of fruits was excited and lifted his voice which brought Emperor's men
immediately to his side.They seized him and mistook him as the sole cause of damage to the
orchard Although Luke reiterated that he was a bird of passage. they pounded him mercilessly
before setting him free.

Luke remained behind at the orchard because he

A. was greedy and wanted to collect more fruits

. B. waited for the Emperor's men to arrest him
Options ] ] ) )
lost his composure and started expressing his feeling loudly

D. had waited for his uncle return

Read the following passage carefully and answer the questions that follow

"Uncle" said Luke to the old Sean "You seem to be well fed. though know no one looks after
you. Nor have seen you leave your residence at any time. Tell me how you manage it 7"

"Because" Sean replied, have a good feed every night at Emperor's orchard After dark, go
there myself and pick out enough fruits to last a fortnight."

Luke proposed to accompany his uncle to the orchard. Though reluctant because of Luke's

Q@3) ' habit of euphoric exhibition of extreme excitement. Sean agreed to take him along. At the
orchard while Sean hurriedly collected the fruits and left. Luke on the other hand at the sight
of unlimited supply of fruits was excited and lifted his voice which brought Emperor's men
immediately to his side.They seized him and mistook him as the sole cause of damage to the
orchard Although Luke reiterated that he was a bird of passage. they pounded him mercilessly
before setting him free.

Which of the following is not true in the context of the passage ?

A. Sean was a poor and suffering man
. B. Luke came to know about the orchard from his uncle
Options ) .
Luke was finally set free
v D. Both Sean and Luke collected fruits from Emperor's orchard

Read the following passage carefully and answer the questions that follow

"Uncle" said Luke to the old Sean "You seem to be well fed, though know no one looks after
you. Nor have seen you leave your residence at any time. Tell me how you manage it ?"

"Because" Sean replied, have a good feed every night at Emperor's orchard After dark, go
there myself and pick out enough fruits to last a fortnight."

Luke proposed to accompany his uncle to the orchard. Though reluctant because of Luke's

Q4 habit of euphoric exhibition of extreme excitement. Sean agreed to take him along. At the
orchard while Sean hurriedly collected the fruits and left. Luke on the other hand at the sight
of unlimited supply of fruits was excited and lifted his voice which brought Emperor's men
immediately to his side.They seized him and mistook him as the sole cause of damage to the
orchard Although Luke reiterated that he was a bird of passage. they pounded him mercilessly
before setting him free.

How did old Sean manage to meet his food requirements ?

Options | 4 by buying food form the market

B. His nephew Luke took care of his requirements
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JC: He picked up fruits from the emperor's orchar
D. The emperor provided him with ample supply of fruits

Read the following passage carefully and answer the questions that follow

"Uncle" said Luke to the old Sean "You seem to be well fed, though know no one looks after
you. Nor have seen you leave your residence at any time. Tell me how you manage it 7"
"Because" Sean replied, have a good feed every night at Emperor's orchard After dark, go
there myself and pick out enough fruits to last a fortnight."

Luke proposed to accompany his uncle to the orchard. Though reluctant because of Luke's

Q@AS) | habit of euphoric exhibition of extreme excitement. Sean agreed to take him along. At the
orchard while Sean hurriedly collected the fruits and left. Luke on the other hand at the sight
of unlimited supply of fruits was excited and lifted his voice which brought Emperor's men
immediately to his side.They seized him and mistook him as the sole cause of damage to the
orchard Although Luke reiterated that he was a bird of passage, they pounded him mercilessly
before setting him free.

Which of the following can be inferred from the passage?

A. Luke did not take good care of his uncle
) v B. Lake of self-control had put Luke into trouble
Options
The Emperor was a wicked man
D. Luke had a habit of speaking loudly
Translate in to English:-
Q (16) < o = -
@lm ARYI0IQ ¢] LI 6SlIw A1geUL |
A. I had been searching for him since last evening.
) B. I have been searching for him since last evening.
Options . L .
I am searching for him since last evening.
D. [ was searching for him since last evening.
Translate in to English:-
Q(17) oo s B
97 2R GG 61T G RTER @ 7
A. Does your grandmother told you a story?
) B. Do your grandmother tell you a story?
Options .
J G Did your grandmother tell you a story?
D. Is your grandmother tell you a story?
Translate in to English:-
18 ~ . ~
Q3) LAY FAEQ QRUIQ AVR EAIES IR BIFQE 6QREJEM |
A. The Headmaster gives me a scholarship on the ground of my poverty.
) B. The Headmaster will give me a scholarship on the ground of my poverty.
Options

The Headmaster gave me a scholarship on the ground of my poverty.

D. The Headmaster may give me a scholarship on the ground of my poverty.

Q@9)  Translate in to English:-
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69198 61N 2IF6Q 6Q1W AIFSIMI |

JA. The thief confessed his guilt to the police.
B. The thief was confess his guilt with the police.
Options
The thief is confessing his guilt to the police.
D.

The thief told his guilt in front the police.

Translate in to English:-

20 c e
Q20 QRIS AL QI @4 7199 |
A. It is seven minutes past ten
) B. It will seven minutes past ten
Options )
It was ten minutes past seven
JD. It is ten minutes past seven.

Subject: Odia Language | Chapter: Set-7
Q) 'AUQ ILIQ F65FE QUG @'El 629 ?

A. Qae
vB. de
Options N
C. Qde
D. ey
IRIIQ6Q 9RIE K9
QQ2) -
A. dIel AG00 62108
B. A21q AGCe FALIRE
Options N N
FC 64 SIFI6Q AMGE 621RT
D. 64 2AFTIER 9G]
aq SR0a SAQ1G 2TERIUR IR @'¢ 689 ?
Q@3
Qe6qlgl
A. 261!
vB. QEAIS
Options H
C. QERIG!
D. Q164G
QM)

RUIB IR IS T96 K9 |
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@ QAT QG9! 661l AN6Q AR Q6% |
A. 9Qe
v B. Q€
Options
C. 9oy
D. 9@

Q(5) 67163 Y@ 59a A8Y AU6Q IR IRIE ARSI AR 699 AR QRIAN ?

A. agagoee
B. Slolalole)
Options N
C. QI8gee
vD. QTR
Q(6) ¢629Q FIRAER Q' AIGF 69INIR AT 6ASELM | - € QIRYq 645G QIR AREG @9 |

v A. £1699Q ‘5@4@5}1@ dieml G QI dier 65ldIw ATQ 6ATCLR |
B. 6% ANER F16289Q QQYRE] RGN 69T AAKER Gl AIF QAR AR CRTEIRI |
Options n ” _
. QRYING JRCRER 716999 G dIF NG cQSm |

D. YIRAQ ARSI 6299 G AT 6ANARG CAGEIR |
Q(7) 291694 QIF 919Gl ISR OAN QIZ | - & QIRYg 6dIGe AINIER IR0 @R |

JA. 291609 GIF 0RI0SI §I66, §F ORI A1 |

B. AP ORINR! RITR FTERE GIE ORI QIF |
Options . N .
&5 64Q 2U16Q4 GIF ORIRSI FI6E 6 ORI QIT |
D. Qg ORIQ QEem § 2IIERE GIIF ORIRR RI6E! |
ARTERT Q6m @4 629 ?
Q@3
'Q6LIG!
JA. Qe + 6QIgl
B. < + 62115
Options
C. Qe + 641Gl
D. Qe + 69161
Q69D 9g6Q gF 98 51l |
QM

(A)gS (B) g (C) @& (D) gF
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A "3

B 99

Options n
J.C: ge

D. go

Q(10)  '299Q 92 K9F VAR - NG 2 YA ERIKANGT Q'€ 2

A. 2R 67160 8]

B. el 681 66lIg AL T6R

Options L
C. Flm @ISl QPR 6LV

sD. 218 9aRl SRl QI8

APERQT AI0RA Q' V6R FUAINYS IYERR QA AFEVL ARIAER § |

IR 2RIQ A ORQ Q21 1969 § AI67 TPR | 6A6VEIER FIRFIER AT FIND F641 AT A6
QIg 991 FI6R ARIFAE 6Q6R 60 JRININTA 2P T 2GE FEGI QGG G621 6CI6R 6AT
YR RIF LG RAER 6ATF 2RYRX A°RENISR! RTER | 6AFFTA FIF FAQIR K2l | QUG 9T
RIS QIR QY RITRI 1 62 63 AOIR 6REER 6T6R NREFA! l, 6AYFR 34°A FREREM |

Q1) 9ER QYIS geedIa Fikl 1eQ Adl ARl FIF | 6ALAIER F6QI @6R, QARG FAF AINER
204 FAUTN! | VS AT, YFAA AP AR AB, F1I°A G 2F6a FINRIER FAUS QISR TG
62192 1 AR I3 AR Y& 69T RHLIAR YAAIFE QA FFY6M | ARRIQAT FEL6EQ
@RJAZAea g8 49 H4°d @Q TR | fRFIAAFA F6QIQ 2ULT @8Q! ¥ TS Aa
621 QISR |

99 2910 9 G6S FINRIER &9 AT Y6 ?

A. eegdag
B. 919 916 AARIQ
Options
C. QI8 AR
sD. dae

Q(12) | 206205 Q1004 6" G6% TUAARYSI FICIR A0, AFER? ARINEA G2 |

QR 2RI A ORQ Q21 1961 § AI6R PR | 6A6T6R6R FIRRIER AT FIND G681 AT A6l
QI 991 FI6R ARIFE 6Q6R 60 IRIAINTA ZJF Y| 2GE FAGI AFE 9621 6QCI6R 6ABR
YR RIF LS RAEQ 6ATF 2RI} A°REMIR RTER | 6ACFFA FIF1 FAQIR K2l | QUG 9@
QI QIG I RITRI 1 62 63FY AOIR 6RE6R 6I6S NNCTR YR, 6AGED 4°A FACIER |
M9aRE QYBAS 9eRAIQ I ¥EQ A8l AR AIF | 6AATIER F6QI F6R, 6AFIRT FAF AILER
204 QAN | VS AT, YZAA 2R EARTR A, F11°A @ 2F6A CIRNRIER FAUS QISR
62IRRN | FIRRIRQ G18 AR Y& 69T FELIAQ JRAIGE AR FALYEA | AT FELIER
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@egeama ga 99 3°d @7 GAIgR! | 9RFIYKdea F16Q19 IR 9091 9@ IS AAAR
6QIM QISR |

679 RN 9@ FQIT 2ATQU 6RIR ASIAIRYRI ?

W REgIAAT AGQIQ UGS FAQ

B. Ao F1991Q 2UQE GRS
Options ﬁ
C. QI8 YRR FIETIT 2IDS KRS

D. Q38edyedql

2GE8eT AI0RA OI' B6R TN JIILN A0Q, AGERD AR 2 |

QR 2RIQ 9T 09 D2 1969 § FI67 AGT | 666N FIFARIER TG FIND K64 AL 2em|
QI FIG1 FIER JRUFKE 6967 64 JRIFINFA 2P G941 T F6G1 AT Q6L 6971I6R 600
2RI BIP 2ILAE KAER 6AGR U@ A°REMOR| KAEQ | 6T RIF FEQIQ K2l | QUFIG 1L
AQUNE IR G AR 162 63RY A0IR 6GFER 6ACE AREIA YR, 6AFER 4°A FREAER |

Q(13) I9GR NP0 YRR A1l 4EQ QA VAR FIF | 6AEH T6RIM F6M, 6AAIFT G AR
204 PRGN | RS 2T, YTAR 2UeaR CAINFA AL, 711°A (6 2T6Q PIARIER TS YIP1R FAQ
62102 1 FIARIA GI8 AARIQ Y8 622 APLIAR JAAIQE 2I0R @R26R | AR GELI6R
RETY2Aa ge 99 ¥°A 98 GUIgN | RRgIAAa F1GQIQ 2UAR KGRI IR FAIS AT
6RIR SNSRI |

F6QIR RRYS ERINET SAAEA PINRIER 9'4 RS AT ?

A. 2041 6219291 CRIRFR @2, FII°A 8 2F6R TIRFIR FAIT AI0IFIR FFIS 6LIRAMII

B. 2041 621RYS EAIRFA A2, 1A B ZFEA FIRARIQ TS ITICAG GG 6QIRYRII
Options .
K iel 204 621R2Q! ERNIFER A, F11°A B UFER FIRAIQ IS FIF1Q FHG 62Inen!|

D. 20N 62102Q CRINFR A2, 7Y 6 2F6R FIRFIR TS JREAS FFI6 6TIRIMII

2GEaQT CI0RA OI' 96R FUINIRYSI JI9ERa Qa9 AGERT ARINER T |

90 2518 @F 0Ra @2l 1 969 @ FI67 UG8 | 6969696R CIaRIER A°IG QTR K66 ALIS Z6m|
I 191 FI68 AQIFE 6Q6M 69 IRIFIFFER 2@ I AGE AAA AT G6L1 6dAIER 65
ZRIQ FIQ 21204 RTEQ 645 2P LRERISF KAER | QAR RIF AR @2l | ARG 98
QI QIR o AR 1 69 6324 A0IA 6946R 6068 NNETA R, 6AFER 4°A FEEI6R |

Q(14) I9GF NGO YRR Al 4AQ A VAR FIF | 6AATEH T6RIY F6M, 6AANFT FAF AR
204 AR | KYE 2T, YEAR U6AR AN A, FI'A 3 2T6A PIARIER FQIT YIB1R FAE
62I99RI 1 FIRRIR G186 AR Y& 692 ALLIKR YRR 210 *R26R | AR F6I6R
RAgLAma ga 99 4°d @ GRIGAI | 9FgIYAa AGRIS 2UAR 9091 9@ FAIC AR
6RIm SNSRI |

ag)Ie 644 A0IR @'§ FER ?

Options |~ A, AIFEAIETIRT 4°A KREIEM
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v B. AREFA A°Y FACTEM
C. QAN A°A Q66N

D. AIRGIR 4°Y FACLER

Q68T AI0RQ OI' 96R FUIAIRAYS JIYLIQ 209, AFERQ 2RIAEA G |

QR 2710 9F G @2l 1 96Q @ FIER JPR | 6A6TE6R6R FIRRIER AT AT F64l AL AR
QI 191 167 QAN 6R6R 64 FRIFINER 2R el ANS KGRI A58 G621 6QCI6R 60
RIS RIF ILAE FAES 6UGR YR A°RENICR! KTES | 6QAFIRTR FIFl FALIQ el | QUFIG 4@
RIS QG 98 AITA | 62 63QY AOIR 6RE6Q IS RIRACIAT A, 6AGER 4°A KRERER |

Q(15)  IUGR PG JIRGIR £kl 92jQ A8 IR A1 | 6IRFNER I6QUM FEM, 6AIRT FeiF AR
23 QAN | KYE 28, NEAR U6AR 6AIRFE AB, F11°Y B AF6Q FIRAFIER ARG YIo1a AT
62IR2M | FIRFIR G168 AR Y8 69E AFLIAR YNGR QR FEYER | ARFIAT FERH6R
REJAAASA 92 49 ¥°d 9Q QUTN | AFIAAGTA FIFAIQ UL FAR| 4@ TS AU
6RIR SEITR |

QAQIeT AFINIER 626 AAUAE 626R ?

JA. RINIGFA 2@ A4 TR FRQ| AFC Q6%

B. gRIFIGEA 2 28 RAIGe 9991 @56 6L

Options B SR .
C. geIINEa YK QALY GAQIRTS g6
D. JRIFINEA 2@ QHRQI FRQ A5G g6%
Q16) AR 2PERIQ A0R GG AGAIQ QAR /R
There is your watch on the table !
A, 99995 669R AJ6R QIZ|
B. Q¢ Q4IT 659M QU6 &I
Options

C. Sf1 Q4IT 659 QAR M

v D. 2% A4IG 9T 659M AUER 2T

QA1 2QeReq A0W 3G AGAIQ 9AR 4

Qa7 ,
The plants in the garden have been watered.
A QIS QAN QTR FIRAU ABER |
B. G2 QI& Q@TPIR PR RER |
Options

C. QIR 986Q QIS eI |

D, QALIR PIQ AIB6Q QIS FLUAIRE |

Q) | graig aigeaen A0 652 AGRIQ 096 a9
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I saw the chief guest arrive at the meeting place
A G0 2E AeIgeq 2I3QIR ¢ 694E |

B. 84 208 ARIARY AR (] 9GS |

Options R N . N
JE. e 258 ARG 2R ¢ 6 |
D. el 25 QRIRq AIAQIR ¢ 69 1
0(19) AP AFELIR A0R BF2 AFAUR PAR QA
Swimming against the current is brave.
A. 69190 ge9R6Q 0L6Ql 9% 62RI6a |
B. 69196 989R6a 9LaSI FI0Ra CIO |
Options ~ o
el 69100 goQRea 9LAQ! QIRIga
D. 69I96 YE9ReR 9La9 ALF ¢
0 20) QAR AERAR A0R BF2 AFAIQ OAR @4 |
After returning from Calcutta, | had to go home.
A. FNQOIQ 6rAQI T6Q 671166 €1a] delg 699 |
vB. ANRVIQ 6TFAQ TEQR 671160 QAg FAIG 62 |
Options

C. RERCIQ 6TAR TR 671160 AQG JQIQ AGMI |
D. RNRIQ 6T T6Q 67116 AQY J]Ig ABANEA 1

Subject: General Studies and Computer | Chapter: Set-7

Q) Dot matrix is a type of

A. tape
) v B. printer
Options
disk
D. bus

Q@ The blinking symbol on the computer screen is called the

A. mouse
B. logo
Options
hand
v D. cursor
Q@3 How many cycles are allowed to a RAM?
Options JA. 1
B. 10
C. 100
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QM@

Options

Q3

Options

Q(6)

Options

Q)

Options

Q@®)

Options

Q)

Options

Q (10)

Options

D. 1000
Who is known as the 'Grand Old Man of India'?

A. Khan Abdul Ghaffar Khan
B. C Rajagopalachari
C. Lala Lajput Rai

JD. Dadabhai Naoroji

Small drops of a liquid are spherical in shape because

A. the earth attracts all the particles of the drop equally
B. for a given volume, the surface area of a sphere a maximum
C. the surface energy is maximum for the spherical shape

v D the surface energy is minimum for the spherical shape

Carbon, diamond and graphite are together called

A. isomers
JB. allotropes

G isomorphs

D. isotopes

The high temperature superconductors are

A. metal alloys

v B. ceramic oxides
C. inorganic polymers
D. pure rare earth metals

Dialysis is used for people with defective kidneys. It involves the process of

A. adsorption
JB. 0SMOsis
C. electropheresis

D. diffusion
The element present in the largest amount in rocks and minerals is
A. carbon
JB. silicon
C. hydrogen

D. aluminium

is a software iPhone from Apple Inc. that provides user with a personal assistant
that can perform various tasks based on the user's voice commands.

A. Pulse

B. Dragon
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JC. Siri
D. Safari

Which of the following is not a way to copy slides forms other presentation in MS-Power
Qan point 2010?

A. Open two Power point windows side by side and drag and drop slides between them.

Open two Power point windows, copy slides from one of them to the clipboard and

Options = them into the other presentation.
JC. Use the duplicate Slide feature.
D. Use the Reuse Slide feature.

Q (12) = Which of the following building is not situated at Fatehpur Sikri?

A. The Panch Mahal
v B. Moti Masjid
Options
C. Tomb of Salim Chisti
D. The Mariam Palace

Q (13) | Solar eclipse occurs when

A. Earth comes between Sun and Moon
) B. Moon is at right angle to the Earth
Options
JC: Moon comes between Sun and Earth
D. Sun comes between Moon and Earth

Q (14) = Which two planets of the solar system have no satellites?

JA. Mercury and Venus
) B. Venus and Mars
Options
C. Mercury and Pluto

D. Venus and Neptune

Q (15) = Which of the following trees is not a soft wood variety?

A. Fern
v B. Mahogany
Options )
C. Pine
D. Spruce

Q (16) = Which of the following grassland are called Canada’s bread basket?

A Downs
' B. Veld
Options .
JC. Prairies
D. Steppes

Q(17) = Which one of the following is a North flowing river?

Options | 4, Cauvery
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JB. Chambal
. Narmada
D. Brahmaputra

Q (18) | Who wrote the book "The test of my life" ?

JA. Yuvraj Singh

B. Sachin Tendulkar
Options .
C. Brian Lara
D. Adam Gilchrist
Q19 Who was the creator of the dhumpa sangita :
JA. Baladev Rath
B. Gangadhar Meher
Options
C. Mohan Senapati

D. Madhusudan Rao

Q (20)  Which of the following was a European managing agency?

A. Tata Iron and Steel Company
v B. Andrew Yule
Options
C. Elgin Mill
D. Birla industries
Q1) Which of the following innovations helped the weavers in increasing productivity and
compete with mill sector?
A. Spining jenny
) J B. Fly shuttle
Options )
C. Cotton Gin
D. Roller

Q(22) How did urban merchants acquire trade monopoly?

A. The old merchants had won over the weavers and artisans.
B. The powertul members of the guilds had bribed the rulers.
Options The rulers granted different guilds the ‘monopoly right’ and trade of specific
/G products.

The guilds were so powerful that they did not allow new merchants to enter into the

D. field of trade.

How did the East India Company prevent the Indian weavers from dealing with other

Q23

companies?
Options | 4 Paid higher prices for their products.
B. Bought them off as slaves.
JC: Offered them loans for their production.
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D. Imposed extra tarrif to discourage them to deal with other foreigners.

Q (24)  When did the export of Indian yarn to China declined?

JA. 1906
B. 1910
Options
i 1915
D. 1902
Q (25 Indian Navy has signed an agreement with the Navy of which country on the White Shipping
N Information Exchange ?
A. USA
) B. UK
Options .
i Australia
JD. New Zealand

Q (26)  Who authored the book named- The Last Heroes ?

A. V Gopal Singh

B. Shashi Tharoor
JC. P Sainath

D. Neha Mudgal

Options

Q (27) = On which date Air Force Day is celebrated in India?

JA. October 08

) B. October 09
Options

C. October 10

D. October 11
Q (28) | Who has been chosen as the male goalkeeper by International Hockey Federation?

A. Subhashish Roy
B. Gurpreet Singh Sandhu

Options
S48 PR Sreejesh

D. Peter Thangaraj
Q(29) The International Day for the Eradication of Poverty's theme is :

A. SDG 1 Poverty

B. Eradication of Poverty First
Options
JEs Dignity for all in practice
D. Leaving None behind

Q (30) = Where is Biju Pattanaik Open Air Jail located ?
Options | 4 Cuttack

v B. Jamujhari
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Subject: Numerical Ability and Reasoning | Chapter: Set-7

In the following question, four/five pairs of words are given, out of these pairs one does not
Q) bear the common relationship which the rest do. You are required to find that odd pair.

(a) Dim : Bright (b) Wrong : Right (c) Shallow : Deep (d) Genuine : Real

Dim : Bright
Wrong : Right
Shallow : Deep

Genuine : Real

Choose the odd numeral pair/group in each of the following question.
(a)3.7 (04,9 ()5 11 (d)e,11

3,7
4,9
5. 11
6,11

In the following question one term in the number series is wrong, Find out the wrong term.

121, 143, 165. 186, 209

A.
B.
Options
v D.
QQ2)
A.
B.
Options
JD.
Q@A)
A.
B.
Options
vC
D.

Q@) | The simplified value of

143
165
186
209

112 V578 /256
v T X 8 |

is

12
8

16
32

Sumit ranked ninth from top and thirty eighth from the bottom in a class. How many students
are there in the class?

47
48
45
46

Q(6) An Athlete runs 200 m race in 24 s . His speed (in km/h) is

A.

Options
/D.

Q3

A.
B.

Options
v D.
Options | 5
B.
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JC: 30
D 28.5
Q (7 Atrain 110 m long is running at the speed of 72 km/h to pass a 132 m long platform in how
many times?
A. 98s
B. 12.1s
Options .
C. 1242 s
D. 143 s
Q@8 The average of squares of natural numbers from 1 to 35 is
A. 436
JB. 426
Options
C. 416
D. 446
Q) In a question on division with zero remainder, a candidate, took 12 as divisor, instead of 21.
The quotient obtained by him was 35. Find the correct quotient.
A. 10
B. 12
Options
JE. 20
D. 15

Q(10) | If0. 326945 X 10% = 326.945, the value of K is

A. 4
) B. g
Options
VG5 3
D. None of these

Q(11) | Ifa’b=abc =180 and a.b.c are positive integers. Then, the value of ¢ is

A. 110
B. 15
Options
C. 25
v D. 1

Q (12) In a division,the divisor is 2/3 of the dividend and 2 times of the remainder is 75, then the
dividend will be

A. 85
B. 145
Options
JC. 225
D. 65

Q(13) Find the LCM of 4/3.8/9 and 3/5 .
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A. 20
vB. 24
Options
1/24
D. 1/20

Q (14)  The HCF of 16.5,0.90 and 15 is

VA 0.3
B. 0.6
Options
C. 0.5
D. 0.15

In the following question, choose the pair/group of words that shows the same
Q(15) relationship as given at the top of every pair/group.

Disease : Plague

A. Tree : Leaf
_ B. City : Crowd
Options )
C. Reptile : Creek
JD. Bird : Lark

Q (16) A father's age is three times the sum of the ages of his two children.but 20 yr hence his age
will be equal to the sum of their ages.Then,the father's age is

v A. 30 yr

) B. 40 yr
Options

C. 35 yr

D. 45 yr

A bought an article and spent Rs 110 on its repair.He sold it to B at 20% profit,B sold it to C a
Q (17)  aloss of 10% and C sold it for Rs 1188 at a profit of 10%. what is the amount for which A
bought the article ?

A. Rs 850

B. Rs 950
Options

C. Rs 930

vD.  Rs 890

Q18 What price should a shopkeeper mark on an article,costing Rs 153 to gain 20%,after allowing
KB a discount of 15% ?

A. Rs 224

) v B. Rs 216
Options

Rs 154

D. Rs 132

Q (19) Gold is 19 times as heavy as water and copper is 9 times as heavy as water.In what ratio
should these metals be mixed,so that the mixture may be 15 times as heavy as water ?
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A 2:5

) 233
Options

3:1

JD. 3:2

I am facing South. [ turn right and walk 20 m. The, I turn right again and walk 10 m. Then, 1
Q (20) | turn left and walk 10 m and then turning right, walk 20 m. Then, turn right again and walk 60
m. In which direction am I from the starting point?

A. North
) v B. North-East
Options
East
D. West
Q21 Neelam, who is Rohit's daughter, says to Indu, "Your mother Reeta is the younger sister of my
father, who is the third child of Sohanji." How is Sohanji related to Indu?
A. Maternal uncle
B. Father
Options
Grandfather
D. Father-in-law

A house-owner wanted to get his house pained. He was told that he would require 25 kg og
Q (22)  paint. Allowing for 15% wastage and assuming that the paint is available in 2 kg cane, what
would be the cost of paint purchased, if one cane costs Rs16?

VA Rs240

) B. Rs180
Options

' Rs160

D. Rs360

Mukul spends 40% of his salary on food articles and one-third of the remaining on transport.
Q (23)  If he saves Rs450 per month which is half of the balance after spending onfood items and
transport, what is his monthly salary?

A. Rs4300
JB. Rs2250
Options
Rs1125
D. Rs2500

Q (24)  What is the probability of getting a number between 2 and 5 if you roll a dice once?

A. 1/5
B. 1/6
Options
2/3
v D. 1/3

Q25  3(1-x)-2(at+y)=0,Ifthe equation is satistied by (2. 0), what is the value of 'a' ?
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VA 13
B +13
Options
C. -23
D +24

Q (26)  Which of the following equations is parallel to the equation 2x + 3y=1 ?
A. 2x - 3y = -1

_ B. 3x-2y=1
Options

v D. 6x+9y =5

Q(27) For what values of K, the co-equation pair 6x + 2ky + 3 = 0 and x + 2y + 2 = 0 will have
unique solutions ?

A. k#3
B. k#4
Options
k#6
D. k#8

Q(28) 17,18,25.25,19.21.,19.18.18,17 numbers mode is

A. 25
B. 19
Options
JCi 18
D. 17

Q (29)  The mean of the first 20 even cardinal numbers is ----------- ;

v A. 20

i 19

Options ”
D. 20.5

Q (30) | What is the value of p if the original terms of the equation x> - px + 2 = 0 are 2 and -4 ?

A. -3
B. 3
Options
FC. ;)
D. 2
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